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Chapter Review p.20
1. bury 2. avoid
3. country 4. save
5. carefully 6. present
1. takes place 2. used up
3. looking for 4. stands for
5. on top of 6. In fact
1. Amy wasted time doing nothing.

2. Jason wasted time playing video games.

3. Laura wasted time doing the same thing
twice.

4. Karen wasted time talking to her friend
on the phone.

Butterflies have beautiful wings! They
have bright colors. They can be just about

any color —red, orange, green, white,
yellow, or whatever. Butterfly wings also
have many patterns. Some have stripes.
Others have spots.

Look closely at a butterfly wing. It is very
thin. It weighs almost nothing! But it is still
strong enough to fly. It gets its color from
tiny “scales.” These are like scales on fish,
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only smaller. Each scale has a single color.
It also has tiny “windows” on its surface.
These “windows” catch light, and so the

wings shine in the sunlight.

Not only people watch butterfly wings
for their colors. Birds watch them too!
Why? Birds know butterflies with bright red
or orange wings are bad to eat! They make
birds sick. So, birds avoid them!
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Chapter Review p.34
1. appear 2. opinion
3. last 4. painting
5. imagine 6. melt
1. full of 2. for short

3. patient with 4. in general

5. get along

2. have trouble solving the problem?
3. have trouble falling asleep last night?

4. have trouble finishing your homework?

Many people do not get along well. They
get angry. They even @ Why does this
happen? Often, people do not understand
each other. They want to be friends. They
want to get along. But they have trouble
understanding other people.

Imagine you have a friend from another
country. You and your friend talk and act
in different ways. Maybe you look very

different. Probably you speak different

languages! So, you do not always
understand each other! This makes

problems.

How do we avoid this? Be patient with

other people! Maybe they are from far
away. Maybe they look and talk differently.
But they are still people just like you! So,
try to understand other people! That helps
you get along well. Then, we can get along
better.
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T4 QUck of AWl e 10| N2 YL YR CHEFSH )

S USA| Zot=F 57| HISHMOICH OfF AlFS2 HZAHE Optall OjAe 22| 5t Mol Mok 4ct J2{Lt 1S &

CH-3. In OtherWords A9
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2 CHEHSH oI ACH 1 29| H|Z2 HiZ 2t B AR2tA|CEs
At

A 193640 2TE FYS 2Ho|oh O M2 AL
Ol= 501 chigt 2O0IRACH OIS 7 oIl AZE 235
2ol 0|0F7|E AiCt O Ad £K0M, AZE2 d0 FA0|H
JUHE CHAEMO M ATt D2iLt JE Mdof gatelct O
YoM, A= 2E XS S0 249 2E MY 24
A H{ZICH (0]H0] 24 A =2of o|O|o|C}, U §F= W O
SOf| At2tA HRACH 2AUAVEIE EHF] At H2|H A2

‘BHEIF A AretA|E AOIEL)

Q2L Al [5HA] OHCh JH 0]%0), a1 of
222 228 UCh Bl 8 AlRIRIChE SBF ¥5i2
T UISOIHTE AIRSS OFIIAE g Boh 120 £
BA) M oF 4|0 D2l Djue XIS RS 27}
olcH

/ﬁH/*E* 777777777777777

2. ch7ist o] 5 A 4 2 YUcks HE2 ol

A ARk ekt 167 2§l Aojehe Eolgt, o]

TS el AL Y TS Hof 1A,

Reading Practice p.44

QY - =70

o =

‘20|04, MRZ 7t2H” 0| Z40] D= FAHY 7+ REst
T4 Z ofLolct QA2 HIstA 5h= 20|80 ==
ZO[|QUCt O3, of L2 OC|M 2 AL7? £71 A3 0|
=i

OlE AlZIS S Sa|A J2la|atn AYZSICH = 1947]
8o ot MZel HAUAACEH J2ele SF “d20(0, M2
2 Jf2pet iCt J= of 5 18651 12| AIZ 7|At0|
e =2

J2{Lt a7F 0| OfLACH f2l= 12 2AS
O AtEOl & £&=0[2t1 EZIettt. Q& ICofLt Fof B 4
29| MRt = 1851H0)| “F20[0f, MEZ
1 ACH RS 227t 7|AE 27| g4 MOIRACH it

=i =

J32l= AU Q= O 2ol 229 AYS AL d=
= b OA2 £2201 O RS

e
1. ¥ 242 “Go west, young man!’o|gh= o] uj=t
A 7 e F shubebe Seolnh, oleg S
o= ;‘*‘:1'5}1 = H7l= (B)olth. (A= 7HE #1983
Wolgfar gouw Tt f e & e} ou)zf ohE
I, (O "l MAR {33 Dojehs Rolng A oju]
7F ok},
2. “give ~ credit’ ‘~& %]{3}4 ‘~oA 3 =Ty
= “Go west, young man”
ojghz TE Agol Ae ke A O]ﬂ%'—/}i xog
= 0tk ol ZHIE %9 BU]= (O)olt,

ofr

Reading Practice [5) p.45

29 0|AE At0|E
1800TH0l B2 AtEE0] Cf2 L2
C. 152 01F 21241 E2IHCt YL 0150 huict.
Ihst RS E 82| OfCio| 49487 1S thrka
7} 29 O|AE Aj0|E
LROEIYCL DRO| ARSS 18 YS Y0 2YE Y
Cf. D2t 22 RYQISO| 1 RO LiRich 1 F 3

fIist Y2 7tel & AD|A0|T = w82 FAIAIE &Y

3
Ol AT 27 A48 L2 RYS ST YUCH E
C}2 SOIS2 29 0|AE Ajo|Sof ofst B&S 4t 2
£ ¥ 22 HRSE YU 29 O|AE AO|EL OfFCIR
20| OFLIRIZ 1 R BAI0| AHES UL US FiCH
ol oo

—h

(A= ¥ 49 “hard™E “difficult"®, “had low
incomes™& “did not make much money & H}4t
o] 333t 2HIE paraphrase®|th. (B)= “hard’of ‘o]
2 Qo "das] 2 ol Yle A o8 Ao,
(C)iz HFso] dg T3} v == ou]S gar Qlct,

2. A Ao 2 Au|Avt ujRo) glEgo] H Mtk=
Oujojct, o] Ao 7 717k =4 =2 (C)oltt.

A’| D Answer Key
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2E|R0| Bjma

MOl ZA|2) 0|22 29l A7} Aot 7> ot ©A|
7t Q%ChH 00| HUHSZOA 712 2 £A9 2E|20f
= 2E|20f D|T2|of2 1 0|22 FUCH o 20ME[DJE
T 37)9| 421 E|20{ ZMal Y QAU A ZHo| 2

2o, E710ll= 5t SRS I A2 At E HE M

O[ct.
Z2E[20] 2j1g|
37H0llM 67He] &S

el
Cf. J2fLt BE|R0f B2t ZEIROOIN RUA R
%2 OfLICt 1 EAl0= RYE OFREE Utk 59| |
2 QUM YA, 127 3 g2

— —

o]t 71 5o of

A7 Gels| ZE|20f 2112|S(Baltimore Orioles)O|CH

e

1. FojA E4L “How many cities / have / a bird /
named for them?” 02 Uiro] A7k} 4= 9l 53 4] 2
Zrolck, & ‘it g2 TAIZF 11 AL o] 5-E whA] A
oA ERE7 = Yulofth, A9 o] FE whA] LAl
22 Ao vpro] A7tslA] Fes ShrH( 1™ ] B
= (B)elth).

2. “female™2 59 AAHE Tekch, FWAY QoA U
[e)

4. 3%oA] “They 7} 7F) 7= Zlo] “eggs™d& doko
& “eggs”E “They 9] Ao YaL £4-& ¢lo] BAF, 1
2 “The eggs take about two weeks to hatch.”
7} gt & &o] “hatch”sh= g 25371 A= o]
o}, 22 ohd “hatch”9] &fu]= F£3IA7E?

5. EE|Ho] Fae)7t SElojo A Frg fdk Ao oy

)

LUe B, A MR E {8 A0l Urke olrt,

A

Chapter Review p.48
1. face 2. advice
3. musician 4. create
5. popular 6. southern
1. make sure 2. fall apart
3. running out of 4. getting over
5. get ahead
1.0 2.@

In the 1800s, many people from other
countries / came to New York City. They /

were called immigrants. Many / were poor.

Where did / poor immigrants stay in New
York? Many of them / lived in the Lower
East Side. It / was only five or six square
kilometers. People there / had hard jobs,
and they / had low incomes. But many
famous people / got started there. One of
them / was a great politician, Al Smith. He /
became governor of New York. He / almost
became president of the United States.

There / were also musicians like Irving
Berlin and George Gershwin. Other
musicians / wrote popular songs about
the Lower East Side. There / were actors
like Milton Berle. He / became famous on
television in the 1950s. The Lower East
Side / was not a pretty place, but people
from it / did a lot!

S
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Y=0IAC OS2 ofH 2 ELE S A =2 A
22 & 2O0IUCt OF ZHZ L BE A2 OfLACH O U
S §Fs AOlM L2 ASO0|ULE. d2iM 2 RS 2= &+
UAs UZ 2o WS 227|= LSUCE A2l 502742
0] 23Ut 2 A st ot2lofl= A"0| 25450
AUCH &2 O 23 YO EA| Y. 22 0| ot U=
SO RHE| R UL &2 2HM CHE RS YO{0FRF FiCH
Basic Drills p.51

Basic Drills A | Building Skills p.53

1.()NI 2T @B)F

2.(1)F @T @F ‘g -4 2% 8.©) ,/‘

Basic Drills B 1. JHQt 0= ol MEEWH?

1. (1) Yes, it was. ot Ngols EBE AECH IS s IUA| Rsict
(2) (It was made of) yellow feathers. 2iC) o D2V OB TR M2 O|3H312] 2 U
(8) The feather had to come from a rare T D20} DY0|9} e A2 S CI2 grAlo 2 2ot 7t

bird. &S S02E o AA2 77t &2 Aok KO[Ch d2qLt
(4) (It needed) almost half a million (feathers). T0|0f| A= 121 0| OfL|C}. QO[O A= 1 747t 202}
(5) No, he didn’t. = 2[0|O|C. 7Hef M QFO0I7F MZE OISt 52 2117t
T 2 2 Ut
woeros kingdom, rare, million
2. ol HiC}

Basic Drills A

_ . B} Soi| BICtZE A2t ACH 2 AIRF N2 AMY2 Bt
1. =[of sl dzis 2ef RS & 4 Us A2 =71 A

7t OfL|ct A2 Of51 DTGt

T20|CH 0222 5t k| R0 E2 8 4 Uct &7t oo 1o =iy OH " ot e
Ol Of2f 7H2|2 0222 S0t J2iA ke 2RIt o T e
&|7} S E|= 0[R2t 1 ThEo|ct, b= S4B otof Sof FAS SHE. S HEHS T SeigRd. Al 1
QT SDe e Hof 9Ll e EEsa cor =2 B9ls Al0] THTHSH 2O{HCH O 0|52 OfBE
e B2 E W A, 2 HICrIt EIQIC D24 Sy gof bt
O} 1212 &2 AR RE OLH3H HasZCt Ll HOrE ICIGCh.. =2 Hio|2 & Hich
2. 7 M72l ARES0| 0| T3t 0[0F| S B OfE ALS
© 80| & 4 /CHD Of[BIC E OfF AISE 80| 2 3 X3l 0d ... 224 2p7ie] oA
2 22 4 UCINE WBICH o CfEt Olopl £, Fels 25 01 WOl Bt f2ls ASAL, ¥, 7|
Q A=21} 7 Hro| ore Liztof QICh d2{Lf Al 2 2R ah, = BIl7|E EfD Ofligtht. Bl 7|= W2t OA2 o
Of AT QI B olCts 212 93| ok ol ]of of AlZHOf 484 ZVZO|E{Z ZHCt AHS 3t} 7|aHs DFH W22
5t 0[0F7|S2 AMAIO| OfLIT} 2L 82 LMY & oAl 12 el SHRACE =AM f2l= #E ool
2} 2 0[0F7|Lt 112 £0|ABF Y57} AlCHOl AFT1 QICE. BHRIH 1001 O AIHSE OjHEHS
U= B3| SURUTH BHE ASAE AT AL IS
Basic Drills B 247} 72| SIS QUUTH CHEEO| ARFSO|H| QU0IA 742
1. 3teto|7t 3t 0|20 £5H AT 22 of|ct, 1 #Hoj= BHE Of 3 4:CHS 22 EF= 240/ CH
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Reading Practice p.56
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oA M2 S, A3zl Hof thet 0|of7|= A% HshA
L2t B2t OFS ZE[ATE EIACt. =, OfS2E|As 4
M2 ZASHA| AT =

Ctl

B} Al 2]

;9

T —
1. “Atlantic Ocean”& A&olA HAM(scan)sl BA},
“The Atlantic Ocean is named for a place in a
myth - Atlantis."2ka Yo} it} o] #4-& Sl of
Age] o] Fo] ofETHE LAY o]5S W AUS U Sle
L, obgdE Ao tigl AW “According to an old
story, or myth, Atlantis was an island in the

middle of the ocean.”o] Y&} ik,

2. ofSTE|AE AAR A8t Tt

3. A WA T o] WA deko] 8-S e B, o
HE| 20 T3t ofopr|= e A Y] Hekeks Ao] 2
SHHA] AJ2bE] Qi

Reading Practice (=) p.57

s Wy
TE2HE 2 MAAM 7t RYE &4 S9f StLch 1 0|
OF7|= Ofl0|30l2t= 20| & JefiS 2H0F Abefst

Ch. 22{Lt 100 & 2 XA} 5|H WL He| FFOIAC,

1819'H0|| DI=0l| M EfOIE AL2 FH2 LO|of| BICt2 LiZE

=
Ch Jo HiCt AlZS g2 O

79 2{oist &AM F2H|E 2 1851H0] ST=RACH H T

271 RICH WLLS T2 M= Go|

— A AN —
Cieh 2712 AY 2| R3YCH = Y

agjo 2 alsict.

= AN

1891 AtY =0, EL=2

ol

TE2HE2 SAES 2 Rk S2

=
Ap7| B2 RS

[

1. “It is the story of Captain

A2 O dHoll= 2

HD 7| 2let 7= Ml

SOt UBFACH 22t

= CHAL 8171 Al2f3C

LtM 0% 28 &I, 2t

Ahab’s hunt for a

white whale."& B, ofg} Ao Fitu, 9] Q1%

) 2~
Qe ok % 9l

2. “He earned a living as a customs officer in New

York, "ol Arg= o] qlrt.

3. (A9 82 =< A ZAl et e, C= =9 Al

Wi wetel] Aol glet. “He

wrote stories based

on his time at sea.”2h= 49| %2 Wlo] vitto]| ¢l

S ujo] YL v o R A48 A

aE=

& v 282 ek Ao ohmz

Reading Practice

1.8 2.(C) 3.(B)

Ol =1t ofL|m|o|M

HERE FlolA) | ik 9)
(B 238 thgolct

p.58

717F UCE 2Lt A2 100E Mol OF 242 oM A2}
SCt

1900 20f, oY S0|2t= B~ Olg7ts QS
A0 U= 4~ A YES Lot} 29 27| Fot S9f
L= HFZA0] 2et ZO0|AULE. O BEF2ZHA|Q| O|F2 HE
AIRUCEH NS 2 SR AMO|AACH 22 HEA|Of et
EHH FotE of2 B USUC

otEet 29 2AF2 AU7(7t AUCE. J2{Lt O|=0f| AtEf
=2 UYS GUL, 29 AEE ¢ 0]d AV|E AR Z3UCE
25Y, R AlF2 oY 22 7|YstA| Retch 2= 7t
SR ARSOIAIM U A2 1938 TH2(OfjA AFEY

Ct. 29| Lto]= 81A|

8
o

CH-4.

True or False? A’| 3
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20| 24 & 4, 020 BB THRI0|A T AL
Jze rMBRet UF U0l gct MARel YE =

= TAHA oy o] A7 £ AL D2{L o8 =2
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1. offyujolido] oF 100d Aol Al2H= Rkl O E = (But
they started in a small way, about 100 years ago)
ol5 thE ¥ Ads] T A (B)oltt,

2. Al defol M Fof Ago] Aok E¢t 71E STkl E o
AL E2 (C)= 25td Weolr.

3. ubxjgr gielo] o] ZH Uy vl ofjuivo)4d & Ho] 3}
elolx ARk ot gk, o] cfumlelde H=u

Aot 9% W), gtk

=

Reading Practice [B) p.59

BEHE TClE

230 33 Zchs 20| AB2LS 2
- a
TCHEQ| A0 MEE] AIZHE[QICH T= 1882 O|Z0l|A
EJO{ T 0= 2% ofsHof Cfsh 2AF 0fst AMES QoA

AFSACE

SfCh e 20| AXMPE AR USTH?
L=

OfE0] =l0jM, O= 2AS AU = B2 AHA
A

B 2 oY URE AIZHEE ZAUS AAED A
Q =2

OIFICt. A7l 2ol 25 2|20 RFH|YALSO| Bt
ol

T —
1. “He designed and built them to use liquid fuel,

because it had a lot of energy. ol =0 gl},
2. “It flew for two and a half seconds. "o A% o] AT},

3. (A)= “Theyl[Rockets] began with the work of
Robert Goddard.”®ll Wet 9laz, (B)= F WA Tk
W8 5ol & 4= QLo (C)ofl digh W82 =l vhet 9l
2] ok, 196996l ol 253t A2 artE9] 270 of
Yzt arche o) 220 vl =gt Arkek 270091t

iBT Practice p.60

1.D) 2.A) 3.(A 4.(DO 5.(B)

MojUE o2, R4 =

19500 2E 0j=¢l0] £4 =28 21 AMUCE A5

2 J4E O FAretl X0k 22 22l L2 oA
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CHEHEACE, T2E7bet 24,74 1957H0) SFE1D th Foje O
U= A% Tvol 293t deiLy a9l 25 & 7
FALUCE,
THOH Yol A HS2 YLZ FAIS AFFRUCH 19894

a7t A= ©l TVl st Mt aks LHRICE

T
1. 34 Geto] 24 ol F9UH ol§50] ko], uhy

o 22 e (D)7 39S 12 4 gt (A)

(C)el e 27 Aol L
2. “industry”®] Aelo] 22}9] H712 Yol B3 Rupxy 7}
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3. 7|4 “It7e] 7k7]= A “a famous TV comedy”
Z “I Love Lucy oltt. GojolA] 2% o]5-2 o]dEA|
2 373t AS gob F4
4. “After I Love Lucy went off the air in 1957, she
still acted on TV . g}= 82 BH F4 22 1 Love
Lucy o]%ol= A& 715 52 & 5 v, 2u=
(D)= 2 Wgolet.,
5. A &= B0l AFEol 9 23A FAE FolEA U
9} it} (because she was so much like ordinary
Americans).
e . N
- Chapter Review p.62
\\7 7//
A 1.interest 2. except
3. following 4. passage
5. planet 6. consider

B 1. blow up 2. no longer
3. for a while 4. earn a living
5. According to 6. get started

1. unhappy 2. forgetful 3. unable
4. wonder

DO @E0 @ MIA =M @
zof  ©®=2=0 © ==
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© HRIAte] 2xof zo @F0 @

=2x0]
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Building Skills p.68
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1. Bcio| £of 231 A

CH-5. Read between the Lines A’| 5
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Reading Practice [E) p.71

1.(8) 2.(0)

Lictel 243
HLC 2= el of7] A0, 310 S2 =47t 22
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1. 24 %94 “That is a strange shape for a lake. 2=
S oH gulr o g F40] Hoke Or7} ol k=
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And there, waiting for them, was a look into
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the past!”2k

“

1. 34 £9] “Sometimes, the tombs had carvings
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. S|uelof Ao 7} gofelt 4eg Wolx B4
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paraphrase©|t}.

. o] FofA= Abe] ol Al= = 7] e Argstal 9l
o}, sk A2 FEofl 9 Aelal, she 3HbE
dhof| oJgt Flojt}, “Let’s look at two of the most
common ways of mountain building. & ®H o] &
7HA] W Qlof e Ato] FAJE= E ohE ol Sles A

28 4 9t

Chapter Review p.76
1. wonder 2. form
3. tomb 4. comfortable
5. uncover 6. manners
1. blow up 2. by contrast
3. in comfort 4. look down on
5. thanks to
1. A} 2. SA} 3. CHEA}L
4, At 5. SA}

We know much about life long ago.
Much of what we know comes from tombs.

People were buried there. Often, they were
buried with things they owned. Sometimes,
the tombs had carvings on them or
paintings inside. Many years later, people
found the tombs. And there, a look into the

past was waiting for them !
In 2005, workers uncovered tombs at
a building site in China! That was a big

surprise! The tombs were near the city of
Ningbo. They were 1,700 years old. They
had pictures of animals and even money.
Thanks to the tombs, we know more about

life in China long ago!
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Building Skills p.81
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B (O I £ OMEIAS AT M B MSE QUCt J2iLE 0F of
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Reading Practice (=) p.85
1, 2.0

30| 9% 1IE
22|27t Ab BE 2SO0 ‘24Pt EA|Z} Elojglct,
Ol ER0IA LEMIIAE BES0f
200340 22 150 3 YULEME Y=o Seis
RUTH 1 PRMS PRI 5 UL BT D HH2E
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o
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92 Aolth, F WA SFAL F Po] $FuBAE
Hrkar ojn] YoF Q1o 2 E (Two astronauts were on

board.) @< ©el 2 & Ik, 223l o oA
‘IO WA Eof 022wty Py S2AARLL

o
w2 FF Haaks Hlo] ol B @ ol B 4 gict.

Reading Practice p.86
1, 2.0
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2. Fojx FRIA Tt A= ¥
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oz B A “It"2 “Good King Wenceslas 2= =
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Reading Practice [5) p.87
1. 2.0 \

O = 7
S S FH0|CH YA 1 M 2Pt OfRRASR| Hof
Z271 27t #EH}, OfLY BHHETP of Z2of
L 32 9802 M ATt =R & 4 9Tt

OISSIE 2012 W2}, D 2009 H FROIA A
O}, 1= #2512 30t HLstel D oF| gh2olct 1
2Lt D #=s WSS 40t 10| Mol oL AlSe U
20| o4, 2017 KO0, ST ZECH MSS OfF 0| o

CHBHA 4HCH T12iLE 2= 3§25t AFo] OfL|QiCt. 19| o]
Q248 Wil 21 ofLCh &, OfE Z7tSe 159| )

Y

1. Zo|1 BAA] “don’t” Floi= Sko] ojn] - oj 2
o] AekElo] 9l Aolt}, TejHE Foj7 FgT} vt
T2 BRL 3o} B}

2. “In fact’sh= AZol Y& At o ALgHch U
L 707} Imol & Folats & A9kt AL of
glo] e} Zo] | ool Lhe U&7} e el &S oobr| 3t
) ALGEITH o] W& AZFFRA] Fol7] BAbo] Soiz 9]
22 ghoba A,

iBT Practice p.88

1.0D) 2.0 3.(A 4B 5@

19M17] O|=2 ’gHI

OS2 M Li2tE 5 A (the Confederacy)O|2t1
FACH J2{Lt YAE D.Co| HYYLl Mzte Sapct Y
YR e R0l 50| HElsh= A S Hi2tA| EUCt ALHL
= 2E AS SAlst Ao 22 g9 50| ds
Otof Li2tE MRt Sy 2= OS0|H WS HZFCt

2t 2|9Ct 152 YRS 221 1SS h 0|2
o2 S2)7| YsiM MRUCH dajLt HReiwe uae 3
CH 037 ZS7te| Mo Al2telUct ey w7t S2l3

A S7A| = 0|=QIS2 1800ECH 0|2 Z2|7t O{EA A2l

HYE L2F=AIE 7|5t AUt
e
1. v Toly HE WAt 2|8

i =
9] “country”7} “nation” ¥ & U2 & 4= Uk,
2. “declared war 9 9Ju|E Ags| AWl Qe 7|5

Zetof sl EAoltt, ‘declared war on ~ 3P ‘~of

A AR Aasit & MMz usi ek Sjujoltt, o
2 Asks] FHT 28 (D)9 “officially said that a

war started between them”©|t}t, (B)9] “started a
war against” = H|S3F oJujo]Zqt  (B)= w4 o H=
oA when T4l becaused AH-37] wl&el oJu|7t A
o gebA gol g 4 ¢l

3. @9 0] 2SR wvkE WA Pk AL
AR EEE S9ohal oSS gt

4. “Led by President Abraham Lincoln, the northern
states sent soldiers. 2= 42 F3ll, Fzlo] H7<]
Hol 55 JAst 4= Qlvk, T2e2al I vy 2 B

al
5. Folxl FAolA S} It EEAAS

o 7}2)7)= Roldt,

FofRl T2 o] Aol dvit L AGH AL, o 23k

2 FPASHEAS A Glrk, Tejn o] e AAle)
AJAp 8 AsRe BAE Aole] Sof7Hs Alo] gt
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.~ Chapter Review P90
A 1. ancient 2. fit
3. favorite 4. flight
5. add 6. feed
B 1.sendsup 2. on board
3. on fire 4. makes up
5. Not at all Basic Drills p.95
C 1.Happiness 2.Actions 3. create 1. Are butter and margarine different? Yes,
4. dark they are. Butter is made from animal
D ogA @ BAt @ 2At @ BEAt fat (usually milk fat). Margarine is
® 2At ® AL @ BAt 2A} made from vegetable oil. Is margarine
© 2A} =A} @ 2A} ® =2A} healthier than butter, then? We don’t
® 2A} A} ® H2A} have a clear answer to this. But one

thing is certain: Butter has cholesterol,

and margarine doesn’t. Too much
cholesterol in your blood can be bad
for your heart. Then, what about fat?
You may think that margarine has less
fat than butter. But it is not true. Both
butter and margarine have four grams
of fat per teaspoon. And they have the
same calories. So, don’t eat margarine
instead of butter just to lose weight!

2. Are butter and margarine different? Yes,
they are. Butter is made from animal
fat (usually milk fat). Margarine is
made from vegetable oil. Is margarine
healthier than butter, then? We don’t
have a clear answer to this. But one

thing is certain: Butter has cholesterol,

and margarine doesn’t. Too much

cholesterol in your blood can be bad
for your heart. Then, what about fat?
You may think that margarine has less
fat than butter. But it is not true. Both

butter and margarine have four grams

of fat per teaspoon. And they have the

,/‘

A22 Answer Key
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same calories. So, don’t eat margarine

instead of butter just to lose weight!
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Building Skills p.96
1. Frogs Toads
e Smooth, wet skin ¢ Dry, rough skin
e Live in water e Live on land
2. Korean High American High
Schools Schools

e Students spend e Students leave
most of their time  school around 3 or

at school 4 pm

e Students stay at ¢ More chance to
school after class  do various things
and study till night

e More students in a
class

JH5*2[7t 577H|7} OF:! Ol
2|2t FAHB|7F 2| ST Y2stET At O
C 2

Se oje ct2ch Jirele TRt BEYD 225 1
Lt SIS TSt 425t AZCE JiTele oee 2 &

Ol &ttt = S0l U2 22 A28 772l F2 Aol

HHO||, FH|= tRE = HOIM A|HEH 252 SOl &
C. 2 O|R7F 250] YoM =8 =oF E0 O o=
CHE HOol AUCH T2{L] JH=2(t FAHBZF 22| gt

M Bho| 1SEm SMSE TR A|7¢% S0 2

C}. 0]2 SH4SS £910] L= 23 3, 44|20 522 o

LT J2iLt 312 SIS 490 Y S0|E 50| e

Ch 1SS 4 104 HEMR| 2452 S @Ale| Pes of
[u]

5 0|92 0| SHSE AL2L} o2t 20| of2f 72|
£2 3 7[5t of gict
Reading Practice p.98

1. Korean Baseball

e One league

American Baseball

¢ 30 teams

e Some pitchers hit the ball

¢ No ties

20

D20pE S=ROIM 17|
O M& QI7|7F QICt, 2Lt 5=
of7tol 20|7} QILt. O|=0fl= &
2|9k LMY 2|37t aZdo|ch d2iLt 320l Shtel 2|0
oF QICt 1742 0|20| =2 ECt 24 47| wh2o|ct o2
7+ 2|0l 14712] Elol L1 LM'E 2|10l 16712 Elol
QUC}. BH=oil= 87Hf Elo| QIC.

52 OO M 47t 38 2|2 Y=Lt 0|24 otz
7k 2|0 M = OpzE7ER[OICE d2iLt LM 2| a0ME &4
7t ERRtE AFHCH

= AEZ20|CE a2 0=
Oft2t O|= OF* ALO[Ofl=
ZHef 217} RUCE. otz

£ OE 2t0|g 2 0l= oFtoll= F557t gltk= AO|Ht.
SH0| =¥ F 22 SHO| A w7tz AYES A LsHor o
O J2hM W2 AAY7A| A Y0l AL 7| et 2Lt
= OF7L0i| A= 7|0l 120]'d Qtof ELtof2t SiCt,
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pa - - - - - - - - - — - pa - - - - - - — - - — -
1. ¢ Not very popular: o] Zo|x F=R] &= Y& 1. o Bigger: 54 & 3%
(A9 A e B ZRof= gkt nl= BRof o Weigh about 5,500 kg: T4l & Z=
A QIZ17E AL Elo] 9l) e White skin: o= ol %= a5 =] 2] oh= W-&(17 £
e One league: 44 & 3= B 27129 9 R= gAolaar Ug)
e 30 teams: HA| E° BW n]=e] olyE]7t #I1o= e Smaller ears: 84 & 3=
1471¢] gol, WA'd 2]1efl= 16709] Hol qlrkar vhet s Longer nose: AFHA 2 W&
ATk, ©]Z2E Tt 307 HolER uj= ofto]| S * Biggest animal on land: 64| & F=
Ly go] wih
e Some pitchers hit the ball: 74 & 3=
* No ties: 97 & %= Reading Practice p.100

e Starts in December: AFEA] &S Y&
1. Diesel Cars

e Smelly
Reading Practice [E) p-99 * Need lots of oil changes

1. African Elephants Crmelie Ca

. e Cause less air pollution
¢ Bigger

o Weaker engines
¢ Biggest animal on land g

Indian Elephants
C|xia} 7 _+_al_| E_g
« Weigh about 5,500 kg |2t 7k At

= A= 2p7F QICHH OOt O 7t&2ls
« Smaller ears MOIA AFE2E7+ UTHH, oot A2 7tEEs
= u]

B 20/Ct 22T, 1 HE B e %S o
20| C|M B2 AFRSIC 7}a219| 20| 220 2t ©
= = 2T 2 2 |_
SO ARV 0TS SREA S ROIEL IEIE 31 512 otupt o wt 2oiM o1 ats2 YN2lE
Al SIS ST HTS S ek SlEs 1= 201 0 el Jjeel WAk 92 CiE 2SS
SCTEL ST 1 2 O 20l HEh AXSE AT 5 O QS0 1 Z0jAIS SABCH 02 T ol2

0 ouct i
el =S RIEEEE SE0 e OfE. OFRe Mlth & O g2 99 Dsto| o] WRsiC O A8

o FVIRISE QU8 RIS =2l S, ofe HE 20| 72l A8 SULC O HIKCT B, M Ao

7H B WA, OFREPE SAIRIS0l B A6 e =7 50| Jhe:2l ¢ OO B0| SOjICH 7142 40| He o

IS ASON 7S S SEOITH ARE 7500B2ABE ) ooig gursier dait o ARe i =t L 20|

= L7 SOIAIE 7171 40IE10 O] SEH E1Et) 2l =712 O 2, £ 220 AS RS 0| UCH OO o

< o 5500220240 LHA| Sf=Ct. ofma|zt 7|2lol o 2o

B3R 0|22 JH2 ROICH 9lE A|RISS w5 o &S

HE 7HRAC =
222 37|28 8 I O|HS 7|5tet. 7t 310 | 1. o Smelly fuel: 6% & F=

7 2 3|2 ofma|FFAO|CE 7 2kD ©x|7} 2k 37| e Need lots of oil changes: 6% & &=

2l QIEAOICE J2iL & £F 2 37 30| MKk 272 » Used only in Burope: g} 5 8

= 0{A5| 37|2]0[CH OfC|ofA STHT B! o Cause less air pollution: 74| ZjA] t]d Ax9]

[e]
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4 @ doqitk= AL HAE 4= Qi e Live in North America: 9% & &=
o Weaker engines: 3% &ollA] T AMx12 71&H QI
Ry oefjzivhar gl o B R 7SR Qllxlo] v ofsitt
e Break down easily: J5%A] &2 & . .
h iBT Practice p.102
. . 1.B) 2.(A) 3.(D) 4.(A
Reading Practice [5) p.101

1. Alligators
¢ Broad nose
¢ Live in North America

Crocodiles

e Get more varied animals for food

¢ Live in Asia and Africa

5. Television 50 Years Ago
¢ Bigger and heavier
¢ Black and white
e Pictures sometimes fuzzy
Television Now
¢ Portable
¢ Better pictures

F &7 oo Ha|H|™, et X

U2 OEet A=ACHUR DR HYH. A52 2F 2 504 2 TV MES M2 ZH0[CH 27|90 Tve 22
oERO|ICh 25F SO|M 41, O E S22 dotHEett IS o| A3} Trafct.
2 e 5 32 082 & 2 ¢S 7HRCH 714, 2 o Ty7} EM 2CH 959 2O0fs TV 2 olfE
GI= QEVIOIFS SERATE EEASSWRE. 21 goppict it o2 el Tvie 22 2Asc 220 Ml
s JloHZolLt ZCH 5t 2 SRS OfgiCt S5y Pals

Yol O|H = A=t n 2 HOM HH2CE o7 2 22{TVE 2L} J2{L} 50 29| TV SuH0[Qict & ot
ZRAE QB 2=, 250l 2E ek LeA0BE aAiE TVE 30| B4 Z2lE QAT OfE ZR0jE Aol 9ot
M7 EHE UAL HEfe] 2E 24 QUCE 0|2 Wa|A| 0|7t 2H2 0§ W22 SRINCH & ofE = Ato| S2I3HCtH o
ASOIS gt 1 G5 gas F40 AAUIof 50 22 3012 7| SlafAE EILE YSIE S20foF FCt
ellt A=2TCY2 7hs VAL YEiel 25 20 QU0 Of HEH 220| TVE 51210| M ZC} Q29| TVE ST 25 Q)

= O3] 71| G2 S72| YO|E Atdgste O EH. 5, A= Ch. J2{Lt, 504 Mol TV J2{7|0 4R 22%ict 12|
ICHYO| o ofYst BF2 HO|E H=Ct M2, =3} HHE{2|2 RS E|R|E OFQIC #BS oiy| 95 ZMET} L
Lot W2 HOIB = MZ THE Ao MAGICE 2302 siCH
OFA|OF2} OFZL2|7 0] AfCH M2|AH|O|E = SOt 2|7Hof| AtTt, ool TV QAT diE aHe

J2iL AZACYD WelAHO|E BE C

O{EIME A0S TS}

[t/

1. e Live on land: o]=

oA AlAolElet 22T
U} 919

e Broad nose: 5#| & F=x

AT A 2

=2 64 &

e Get more varied animals for food: 74

e Live in Asia and Africa: 9% & &%

e Katen by big turtles:
EJ7} 7 %ol 2 Hopuhe

gsich 1802

o= EHE*H A k= WA &
d = o = HollA] Althar

o UE

&(de| A
| )
F

—

= 2}z
=2

2.

. e £ o7 E

[3ti/2/

E3l “portable”®] %=

vh2 Fofl o= 4 “Sets 50

years ago, however, were too heavy for that. &

Hu, 508 Aol TV AEZF Y FAA “portable”

a2 o¥okthe Eott, I EE “portable” 7HH YA
—7]—/],1/1/\ _Ll_?o]a}ﬂiolool—/\o]

4 2tt. “portable”

=]
U

oAl “In short™= 29 W& &

mP

“crude”7F 8l
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oFsfj Al ek wf AFS-El= olot, 29 W8-S THe BH
WAL TV HEE AHF =712
3. “they” kol U= 713 7178 B YARE ZrokEt),
4. 29| upA9f FAS ZHFEA paraphrasedt #7158 3O
W Hr},
5. o Bigger and heavier: 4% & 3%
o More expensive: 75| -2 &
e Black and white: 6% & =
« Portable: 9% & %% Basic Drills p.107
e Better pictures: 9% & J= Ve DY
e Pictures sometimes fuzzy: T4 & &= Basic Drills A
s No antennae: 7-8# & 51 504 A TVE 3jwlo] 1.(1)-A) @-C) ©@)-0) @)-A)
e =% 517] 9l QHEHUE o2 A e] EEfoF rkal (5)-(D)
i=1 c‘w_]-E 7} o)ol 71 i} B A= ?l'E
e nz Qheurl 9llar, e5d TV disiA 1l 2.(1)-A) @-(C) (B)-B) @)-(©C)
L} oJoR7] 7} gitt,
Basic Drills B
1.0 2.0 3.0
) ) o )
e . Y
- Chapter Review p.104
A P /) Basic Drills B
A 1.Besides 2. compare 1. 20|d 71£2 RESH MO=Z MAHIE HSAIZCE FtE2
3. match 4. differ gt S0 240l UUCH A= Lot A2 Kok 1Y
5. tie 6. appropriate o| CHEZ2 1962H0| 27HE "RI=L| &.,0IC} 7te2 2
24 20| Cthaf| 23t JH4= 12 2ol 2 S=0|
B 1.suchas 2. as well ZL S PO oM s 3 Q0] ChaliA 21
3. On the other hand 4. pick, up 317 9|3 FAS0| 2,2 4Tt oS AJZHS0| O S o
5. onthe way 6. wear out 2ch 012 iS5 2 F. AUCIE 2 3 stuich A
C 1. different 2. difference 3. differ Cl= 7h20l St Y0 = 88 20| tie A
£ 2330t &, & 20| st Ho| St Act
D @ zsA @ TEAL @ TEAL
@ H&A ® EAt ® HX|Ab 2. ArHEE ofjol=edl 9| LS °l8sty| Eotsict O
@ 2At M = FES Yt =S Yo g2 e “Ue UEe ZgH
st Algato|c et gict RIE0| O52 2HE 242
SiEg o sYsttte XOIUCH e 2| 4= ¢
Ol ECiz 2AsteP e JUCH FEIt A ES W22
ZZol{oF sttt SSOIUCE 2L M2 AHS2 AHe
AR QIESIY| = BTt AR S 17t 5tA| o= 22 A0t
SUCtD MZr5toH 1920H0) o|&f2|otel §F 4AIZ0] &H
2 X g3t O MUE2 70| FE2 e 20|
207} 2 270 A0[2k of| AT T 2Lt &
e dA=z 0 L2 s Aol gict
3. dd2|7le 22fE =ololct AMSE Orzb7tz|o[ctH T
A2 Mo AEES B AOITh AXZ2 HAMA0IAM
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o5t WO HojZITE BHR0)E WA 471 210

o O

t. H2t20os Yol 10| ALt 0t0]S0] =21 =

|43 WAL YO ME S CIOIOLREXY M

o OAM

£Q
rr

Jol=!
o M

‘Wt (patang)’0l2tn H2Ct 152 &4 of o
10 2O AlOtOf| M= A2 QU7|7t QUCH At

O L2t st 4olct!

uo oo
e o e

rlo

o
o
|
E

nx

Building Skills p.109

1.B8) 2.(0)

MNHS2 AS2E ole2 SOojHT = ofH AFRFS2 £
2 24, &, 2|1 FRE £F22 0|28 ¥ZEcH AW
7H'2 olg’et 22l= A0| AACH AFS0| 2ol 2FS 2R
= 2{0] OfLICH 22t MAICH o AlS2 HI-Y[O] o £E20f
s 03 EARACH a2 1 2F2 ‘2 o202t 22
2UCH BIRHY(7t Ofl=0|AE Zolch o222 Qe Ant B2
Y2O0|M ofzS 2 & AUACE 0|AR2 FAS YalIFE71? Ol
0l£°2 SiLivt Ot 2E 0f2f 7kR|eks AE YsiECH

2. E2 Y7 L2 oF?

SURSE 79 fITis SAAIACE QHE o 2
ML HYICE A W2 E2 LS Ok QL L2 Y
QLO| BHCH 2 AFS CRx| 1 A Rt J2iLt J& 2o
M 0|7|7|= giCt Ja| ;1 7HE-e 57| S STt J2iM, A
P52 o YZsliof F2E RELE I E Tt 00|
ATt dHE 02 S2FCH 2 Q4= 2 o1oIUS

©

SAckat Al 9=

WAl 9IS BE 0152 21 9

]

1800EL =01 HARACH A= 27| SLOIUC. oML

LU JEE fitiet 0= AF2 S o FO|QACt. HA| fIE=
7t A Z7|Z0[AY1, OfH | = Ofote F=RU0|Q{C Q= A2

7|Z AO|ofM S8 ZAMACL 272 AHE
HE 2o 2E 7|t HAlE A=27|Z z[eS2 247l
Ch. 224M s 252 M 259 4YS #3UCt 200

Ho| 2| A FE | O 2IAse =2 7|9g|1 QICt

Reading Practice p.112
1.(B), (C), (B)

7|¥0f| = of
15774, TEf Fteizts Y2010| BHS Tyt 2= 7
olofl L= Of3S T 19| Hh Hojoijz|7t 220 3 Ao
N HTHERICH O Aol 22 Waich
0, Ao| US| 1S AT
A
=

3
i 2UCH dafut 2 Tt

OIQMCH AMA, OS2 oA
DEo2 S0p7t AlOZCH d2iM fIF2S2 J0|H 7t
SOt HE AY¥S 2UT, D= Myt

Yo= Sotet Zof, D £ T 2YHCH olHol=
L2EZH0| ARFE0| 25 AT 2Lt 2= DSHIM
23 F= o2 S0t= Zof|, 19| b= CHA| h i it
SRUCE J2iLt 7IC = A% Sat gt

Z3 Tt 158610 ¥R22 S0kt Ot 94 S¢

Lt LIt Q9IS ZHolch 90| ez~ oigre
Alofsich. s oA 20| o 0lop | S Saiict

I -
1

. H715Y S8AE AR BlushEA, diE ﬁqq oqeuoﬂ
el 2ok Fadt We-2 i 9l
gt} ZHel e o 2 Al WY 971 E Zﬁ“ii
1. gopme|7he] Aol 73 o
9 Z2EZ ARSI Fad o
3. Hi7k hzol HR9 U
A vl cheta) & A oA 1of sl ofoRriskar ¢l
om, Al WA TeolA] 291 3& olopr|staL §let. H| F
oA (B)= 100l that, (C)= 29} 30f| gt Ago|uz vt
=A :‘?ﬂﬂoioF gtk U] (A), (D), (B), (F) FolA
7V 298t 7 shE Lok l=g], upA|a) treto) 4

& aokstm 31% 74713 Mgt

o

CH-8.SumltUp AL/
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Reading Practice E p.113 HSICE 2|0 224 OfAtS| 20|l Cfet HE - sttt AF
E{7} O =& Blwstct ZFETE 0, 27t O AHol S
1..(B), (D), (E) AEL et Aol 2= Ee=th 2L AREH= 150
ACHS HOt J=R|E L=t ek 1 F0| Yol o E 3%
TH= Ol = CHE S7t7F 2 249] AA1Y ZH0|Ct 22{Lt 1 =0 b
‘Family tree(PIA =)= £0IM 22 4 giCh A2 Z0| ROfCHH, &£ OfAREZ A0ICH =W FRES &= H=
Lt ZEE| SHHOYA B R2ICE 0il 2lZ0| s A& Aol
Family tree= AR LERJL OFLICH A2 Gt 7+Z9| AL 1
£ LIEIH =HOITH O42 71 =712 oist 2A7E = 1. o] 2o ATHI} M| ARZ FL ] £OO L PAS
AE ROIEH,. Ol JPZE D 30 ANSS +ME S Argslal ek, 017 4 “Computers help us know
ool 7h=0l GiAE BOIED JPl=s S20i0 A2 2 who wrote a book. = =2 4| (main idea)o|t}. ©]
elol F2lE Ttz FAZ ShEsks 27 A 71 S AdsleE it

oAt ChaHA ZA Reading Practice [5) p.115

fE= A HS XH=I1?
L L2 AW 3229 12 & Z0M EEHTH L UA=
1. B7|50 2Q4< umale], Hr} 283 &S 12 712 5t0] 8AIZHS 2HH YE & H EE Ah= A0o|CH
ok AE 501 (A< (B)E Hlws) B, (A)e 2 =

A HgE Qe A BHoR HE FashA oF
ojct, ®HHel (B)= 7HIE=S 75-& 84 o= AAlstL
9lom @ Qoktio] ELalsly|of £L BAolL} o

2 W1t} 23 Y&(major idea)d 58314 & W&

. . OEEZF CHEH A D¢%7420+10|E ;(E%g_} |:||:_-|
(minor idea)%?—%ﬁﬁﬁ ]4_{]__{:]_ - I DO“ HOH -I s N 2L A |' |' 01
Yol M= D UCH 2| QAT B2 AL RASH
Ch. 219] bl 20 20T A4 BpCt Sals A4 A2t
Reading Practice p.114 Cf AZE 24 Sic HE 4 Usich 22l 242 Ate o
2 £2S& 00| YD UCH TYO[9} HE B ACH MEE
1.(C), (D), (E) A2 AT BI|SNAE FE ATH
Q2iLt S e 0|9E YHH UR| ot 22l 23
F{IT — ZHES M
BIOF, 7h M 3 W ol ol chstAl 2| 3K 20l BTt kB 71 Est] o
2= o M2 £IF M= Y] Zotct d2{L AR 22 282 “fyats 2120|C}
El= 27t 223 4 YUEE TOIECH 1SS Ofx| B 2
Ch. 252 20| YOI} A9t 2 Ho| S LT e
2|0 HEE T220| & 20| YO} H|2 52| 20T} 1. o] 22 Y dehe s FAu o] glrt, o070 A 4 “We
J2{¥ R2l= St g Mer 25T 4+ A =T spend about one-third of our life sleeping.”=
Tero] Y goltt, e ok Sojz x| A &
SAIO12Y 2Rie] 0] Bt A YT BA, HAL £t 1 of Wil deing fekee] Sold eix Al %
e 4] Dt o HOlAlSio SICH el che 2 A e A e Alojat ik A gete] Yes aoks
Z—|_ EX CE’ = I A CH j'l_l: U = T 5 = .
S e =EH. 2 oIl e SEH = Zolofol Ak, 24249] wr17t wiete] $4h$(main
OfAb7F 4{CHD A4ZEBHCE 1 2o ThEt MBS HEEO)A|

AEB Answer Key
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idea)Q17], 12& SuHsH: AR A detail) Q1A A
e},
(A= 3 Tehe] 24U 8-S Sukshs igolct
(B)= & WA dzte] 2 golct,
(0= Al ¥R whete] W& aokata gict
(D)= Al ) Teko] AR Akgtolc),
(B)= ) i) ghete) 2 8o},
(F)&= U] WA ghero] Al sAlatolct,
iBT Practice p.116

1. (B) 2. (A) 3. (D) 4. (A), (C), (E)

a
LA, 22 432 25t fele 7|1HAL, 2L,
SHLZALE, Foi2 T CHE ARSI 22/7F 0{EA =7|=24]

Sel got, 3 URM LA BHY 4 ATt “E5HEY
CH'E 22 P2i7t ofH AZ Th20 7|scts 22 ojojst
Cf. 08 1" 8} (428 Fait, ofgote

o & rr
0/o
njo
10
o

=]
el
a

s
I
J
i
n
frJ
>
0jH
fjo

A, 2] o
S AFZ310! “OlM ML “EI EE “HY |
of e 22 & 4 U

%2 BYE 22|10 AHS S 20 045 J|ES o
DjBiCt B2 7|2 YCke 2 Q0jgict B2 &8
©IiL 2 HORE LS BAY 4 ATt YL 2L
ZOf517{Lt 201512 QH=Che 22 Bist| lat Y o
IR 2D UeTp

L

a7}

S “express’ 9] Ao Yol Hil F

rgke 7.5 Al

2. 54 £°] ““Oh?’ means you are unsure, ol AHE o]
ot

3. (M) B)= F A dellA, (C)= Al 1A detolx] A
gokaL glovt (D)ofl gt A2 ¢l

- o] 2oAME SEVF e sk o el disl A
ot ok, Wl 7P vesd, 1L R 2385 Y
(F WA g=h), 2. 549 B8 AREskes WH(E WA
o), 3. AAAE ARSI WA T=), 4. d=

8=
ot 8- AlQfghet
Chapter Review p.118
1. solve 2. summary
3. mind 4. major
5. history 6. complete
1. get away 2. be gone
3. In fact 4. figure out
5. Thanks to

1.on 2.from 3.For 4. for

In 1577, an Englishman named Peter
Carder went to sea. He had a trip to.

remember. His boat was wrecked on an
island near South America. He was almost
killed!

Then, people on the island found him.
They did not hurt him. In fact, they were
kind to him. But soon, Carder wanted to
go home. So, the people gave him food for
the trip, and he left.

On the way home, Carder was taken
prisoner again! This time, people from
Portugal caught him. But he got away from
them. On the way home to England, his
ship wrecked once more. But Carder kept
going.

At last, he came back to England in
1586. He was gone for nine years. Queen
Elizabeth of England wanted to meet him.
He told her about his adventures. So, his
story had a happy ending.

S
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1.B) 2.(A) 3.(C) 4.(C) 5.(A
6.1 7.B),(C).F) 8B 9.0

10. (D) (A) 12.(B) 13.(C) 14.m

15. (C), (D), (E) 6. (D) 17.(A) 18.(D)

19. (A) 20.(D) 21.

22. A Continent

* A very big piece of land

¢ Has animals of its own

e Sits on its own block of Earth’s

crutst

An Island

¢ A smaller piece of land

e Greenland is one example
\_ J
Passage 1: 1L} O|EEQ| of|&

SHE d O|YEO|= O d=50| AUUCE O|YES| &
S Of2teatn 2|9t f2l= 230 tisi 22 A2 ¥
UL 1 8k 74| OlR= A58 118 10| 7| mZo|ct. O]
ol 22 2o ARRlat= C20 OS2 WS HEAH 2
elct.

A SIS D2l 42 T2 2|A] RACH 2o 0|
Eo| oz O FAHOIUL. S, A2 LiEtl= SEst ¢
A0] URACL O S0 S22 A2 FLE22 JHHL. 1
Y2 0 ANt 1S Soll 2= 0|YELQISO| ol 7
O HE 7IR=AMA = & 4= QT AT O|YE o= MS
5 O AHMIS] 22iA QlCtH Cf O|YE of=2] 5t 72| £0|6t
B2 AIEe &5 2= YOIRACH O|YE PIE2 M =2

e/ - - - - - - — - - — - — — — -
1. “Tt79 Sofl U 71 717he: T WARS FrohRtt
2. “shown in profile”?] &=& olsfist=A& &&= &Al°]

th, 2|7} BE AL profiled ‘ZEZol2} djA] ofd

ARF] oFeS oJul AUk profileofl ‘GG o2k
2itk. “shown in profile”2 ¥nGo g HAH= &
ok, o|A& ZHIE FHTE B7|= (Ao},

3. 104] &9] “Egyptian artists painted people’s eyes
very big."olA AFEY] =& 2A AF T FleH&E ()
= A5E Weoltt,

4. THE 53l “declined” ] 9uE 2l HAF, o] EQ]
dleo] 3,000 A} 3,500 A Atelof] AAI7E o]F
131, 123 YA (Then) o187 A7 =7F?

5. whRu} ZAe A At o] HES] FE & AR e A o]
E ozl diel o W2 A& & 5 ki sigleng

H Qholl 7ol 27F 5o] JEE 2D ¢ Al

o] RFE o RAET1? oIFE GIIEA 31*37 o Aot
B2 Folxl B oYE o] M4
of Eo7H= Zlo] it
7. H7)5 FolA A eR Fa% U8 FastA o
Y& s B o) Ao ek WE Yt
A 71 Fast e o 7k e} 7 FashA] ok IH%
Mg Feb B, 23 YA E g 7Y o
st 7k n2W Fast 2 Al 7k a5k 0}%
Al 7FAE WA ek, 6702 B7] Foll A 7 %35}
o2 e (Aol 13 7Pt Fast yee
oltt, (0)¢} (D)= & o (B)E SAsh= LH%OIX]UJ
(D)= oF FAIARl WEolBng & Fol4 (C)7F B S48
st (B)= M2 $83 Wgo] ofyal (F): vud 3
[gt 1413013} JuuR AjHer Fa% A Al 7=
(B), F)7} =k,

BRSO FFl ot

Passage 2: TA|2Q| 7|5
O{E0|TH, ZA[Q AFFS2 “HE ECH AlZ0l| 71M & & Al
3|2H” D QBICH 4 A|Z0| SAIEC} A|Y517| W20|c of

.
ZEAPHAIZED HE AL EAlE Al OE J|I$E 42

F

W2 ZAIS] ‘B2 £ OE 2UE =0 0| A0] "HAJZA|

SOIC, EAl 29] EH2 7| fI2 HREL, EH2 37|
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HRESHM AA =1 =A| 22 0|S3H LIZITH H7|M THA|
Z 0|5517| Al
2etCh J={® AL S0l 37| A1S0] 42t Q2 #A|

[Et 2% =4S 1 £0f 7hzC 0|A S 2l HAIRS 0|

Jt2fOH=Ct 2 27|= CHA| et S A| 20

Y

8. “It” kol Y& 77ke th WA= “country” 9} “city”
olth, B& “It"9] zElof Yol il & FofA A ¢
AALY L AS Adsle = gict,

9. 7—|P7—1L94 TolE “sources” ] A]of Yol Bl FaA 7}
gro.

10. (A), (B), (O)= 54 &0l €9 sudez ¢

l

o]

32

11. Al A d2ho 9Jetd “dust dome™ B 57|17 A
Sk oA sHdE uf e B A5-S oulghtt,
12. 5 ¥i7f hebol| OJstH ZAIZF AlZ R 2E7F 28 e
Ao & 39 (heat sources)o] W] wj&olc},

13. (A)= 9 &4 A8 b2 9njo]ar, (B)= = &%
O] Lk Aejzt ek, (C)7F Heff 7ol 2221 “traps™2}
“pollution” o} 2 oL F8Z A Fof & e
paraphrase®|th, (D) Hefl &7} A3 B4 gl= Ul
goltt,

14. Fol -2 = 7119 ofetjol5 |l Q.

A9 F717F A& 5715t mHEsiehe 4, 2, 13]"’ =
gtk Aotk 1o Haix= F #iA hetofAf ojobr]
Skl )L, 20f HsAl= Al WA Thol| A ofofr]akaL §f
o}, e o] AL 13} 29 g e Aol £t
7V upz|ato] So7fof gty

15. 4 24ls] ol obd 755 et B, (
AZFSHH A E2Le] O 5 B7] §3F AR —4
W&k A §ick. (B)= “climate”o|2k= &0l
Argoln g ZQ3514] gt Yw#] (C), (D), (B), (F
HE EA] 7]59F A Q= WEEoltt. o] FllA
Ao g g Fa3% g slus Iefiof girh, $4
7 et Al WA geke] S41 82l ()2 (B)
o7tok ghtt, Z2jH (D)ot (F)7} H=tl, &9 $842
AP vlszsket, 1l (D)7 WA = E ()L} (E)7F
AALHA o]o| 2 2] ZrabA] HTH(E)oll A 7347 “heat
island”"eh= o] UheA Hug), Jeug Qoktole

(D)7} 2£3te|ojof gt} (QoFt= I olal Az
& shuke] Zol Eojof ghtk= A& WAlskAH)

r{r

N = - |
e o ok 2> e

I 4 023

Mo

Passage 3: @AEz|2|0}

Ol222 UF0| FAAUA 1 AL THF2 OtAIOL, 7E,

ofmajst, 2otojzl3}, Hotualzt, H3THE, d2l1 fzE @
AEZYUZ|OOI|C Q| MR RQAEZ U0V AIIE2 2
AE 2|07t LAY T S2I5HA] QH=Ct QS ChE

01712 OfL|® 1A 2 Aolvfy 1 A2 Hl|7t ofCY,
ChE-2 ot #Ckat & Hof2lolch Qe 22 S2Mo] Y

C}. M BICHR S2{KQl £ O 262 SX|2 £5Hct 1 ofc]

MEE] 40| ChS0| £l 0] ZS0f, AL Ei7|7t ofELt,
olots @A Yalots OfE

o Zolct. 3 717 0|9z, @
AE@Qalots 3ot £3 1R0| S2S2 O

2050 9 &
ot
—

==1t o] T20t E£8t 242 A9 TS 2/l S2teot
UCH Olet Fo QAUEE 2 Hof SUSICE. AN 2] o
ST 2l A g 2A2 2LAEYL|0tRE 34| gtt. 2
2|1 P2l RS} SO0 22 S2S HotE &
UL

D2 2AEfYelof YRE 0|40 thsl OfEA Lat=

=
ol g TlEIct 1SS LAEYUR|0E Y o

16. 2 AE Yol th Q1A ofdA] SHAA| foHR &
of = FASHA] gt

17. “it" 9] v} oFo] U2 thss HALE o} Hr}

18. “crust™9 AEjof 47| BI|E Yol K FuAl 7
Ao Ae gt

19. 10-124 &l A=l At

20. “get around’2l= Fd 9| ou|5 Ydojof & 4
Aloltt, “get around™= F4lo] F9E HE v}
o2 o Ao A3 A ar v 7F
= Azttt onjoltt,

21. Folzl 42 o Ao et o7& dHs] AlAtsk=
Zoltt, 2B of2] 7HA] o]-50] »aE7] Aof 50
A 2ol So7tof gt

22. o A very big piece of land: 5% & Z=x
pzs

;3
rle e

[o M [o

i)
)

e A smaller piece of land: 5-6%] & Z=%

e A piece of land with mountains: AF%A] &2
W&

e Has animals of its own: 8-94] & 3=

e Has no animals: SIHF%A &2 Y&
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e Sits on its own block of Earth’s crust: 9-104)
Z 2z

e Greenland is one example: 104 & 2=

1.(C) 2.(A) 3.(C) 4.(A) 5.(B)
6.1

7. Legends

® Based on fact

e Story of King Arthur is an example

e About real people or real events

Myths

e Tell stories in a colorful way

e Have fantastic beings in them

8. (B) 9.(D) 10.(B) 11.(A) 12.(A)

13.(B) 14. 15. (A), (B), (C) 16. (A)
17.(D) 18.(C) 19.(B) 20.(A) 21.(C)
22. 23. (B), (D), (E)

o
©Hd2 BYO Y FLVF OfFH A=A TAHECL U2 A
sioll= 82t 22 8IS 2AS0| LI20 Aetes LEHA2 2 At
Aoj|l 274t 0] ofL| Tt

L} 24| AtAof| CHSt ojoF7| =
O[OF7|E 7|4 O[OF7|SHA, H7|0| 22 ASS HEUCL 2
Olop7|E 21 SR, f2l= =2 ot o that 4o

t f |

Ol Al Act L

—-—
Oé
N
ol
o
I

o &9 0|0F7I01| 7|8t

[

Usio| ApUDIS E

3510 942 JH5 40| Ack J2iLt A0l S0f Ul Btk 2
AB0lL ofojB 213 27 22 AlSe| MAg Bt 1S

Lt al
Y2 A0l ofLTh, T2iLt O ArS2 A2 24
Al

|87} 243} C12 3 71| FHolct,

Y

1. “But they are not. oA Ak T HFaA 2
“But they are not the same thing.” o]t} 1822
“they’+= legendstt myths o] &S 7] 7]= A o]
ofel & BFE 7t}

2. “fantastic beings™¥ 92 &(dragons)°] L}l ¢}
o}, &2 ojudt FERIF?

3. 24 &% HH A= ‘ojE 719 7]¥Y(the origin of
something) & W=l gt} o] A& HA3] Fof &
H7)& zrop 2o},

4. Folxl L TAo] Ast A3 ohE gk 7HA] Aol
th et olth, oA 11 9ol thE Aolflol Yles
OFAlsH= #dolt), 2B E LulE paraphrases= (A)
oJt},

5. T ®iA) detof] ofst AL AA dojd dofA Alzst

Ak AREEo] A7)0l A& &4 Aokl vt glet, 1
g ofg oloprl= ]Zﬂi ZARE oj® e o]op]
of AbrEo] A5 &4 Aojekal 28 4= Sl

6. Fojz EAJof|A] “Another famous myth k= EE 0]
SOtk A O 7 Kol 71 grof| ofi {183t A5t of| 7} sl
Lkeof 35 & 4= QlTt

7. o Based on fact: 5% & H=x

e Story of King Arthur is an example: 8% & 3=

F

e Tell stories in a colorful way: 24| & 3=

o More popular with children: Qg5#] g2 &
e About real people or real events: 64 & =

e About living people: AFEA &2 W&

e Have fantastic beings in them: 34 & &%

Passage 2: XIH0|A YLO{Lt= X} AMEH

=2 =¢ =
AL 2SS 2 0| 20] At Bl W2 0[2t1 23t O
s==c 15s EsdiTe M, de 59 & Z1 Qlth. of
£32 1 3=30| 4ot =5 =of #0h 1 Y9 =322
s 4 4+ Atk 252 1 §YS A3 =220 22
MO 82 S22 8 AL 0l 2y S AAHE0l2t

A82 Answer Key
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rlo

C 2242 Aot

njo

IH540| 7ty &2 28 Mep &

2 st =0ty 3 8 SR = Passage 3: 2
Zysit o = -
CH717} (0|2 BH2H0| DHSOfZITt Brate A MAOIM &
22|z 0| 2HO| HL| ZA0M YojLi=s AE 2 &+ UL C} Moj2 Hj2te D24 25iCt Okt HIZHo| R 3} Bk of| |27}
OfT SAISS 04 T2of o4 C{Rict YA7L A4 40 = Sof 9t}
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A), O ), (E)

(D) 19.(B) 20.(C
S-Waves

¢ Move along the surface of the Earth

(C) 16. (A) 17. (B)
21. 1

¢ Break buildings into pieces
e Cause a lot of damage

P-Waves
¢ Travel deep through the earth

e Tell us about the inside of the earth
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e Move along the surface of the Earth: 4% & 3=
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e Travel deep through the earth: 94| & F=x
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